O -0

Y=YV I IRTL (el

HRERITES
TUNGHYDLRO ... .

Tungaloy Report No. 389S6-J



https://qrtn.jp/n7ydf

TUNGHYDRO

BEENTROFvvIKRILY
TU—=X%ZHLTT

1 HR

BHEIRECHERWVMENREE
INABLYFTEER U T Y RANY I TIEFE S X THHA
BT IRNEBE 0.003 mm LU TOEBEY SV I
AJEE,

BWMERNEBENLICEDREMIH A6
<BERY—ILIRILY RT 1 B EH DR

SWSITILRIEIC LD, IR0 EDIRNZIEIL.
TEMIZER,

- IREFDIREN R R
BEDHEVATARREENZ, BOHUUDHRIC
LBTEREEMHIEL. BNl IELMERR,

TYV—ZXDHMESRTL

OFEIRl
ML LY FAERE T ICEMGT & A—LE%Z ANT TRt
TH. OV IRNYIS—ICEDRERIRIEERSLE .
OFEIEA Y
SHEEEEZ R NV ICK D RERICERX,
ONGRRAV =T EMERE
R A =T EICY =)L v 7 LT 7 —FRICHIE,
BAICTHIRDMEZHIMEEI L. S5IC2EFEER.
OY—ILikILY
HSK. JIS-BT Ic¥dfi5o

OXREFHLULRAERU

HET BEHIEDT Uty MIFIEE,

OREE
ZORFBICLD, FEEHEDEDZHRL. REEBICRSTIC
R5. BOWITEEFICES,

2 TUNGHYDRO



BT-HYDRO-T (/A RAFvvIiRkILY)
BT MAS-403 ADB — (&KLY SBEHERXFvv o

LFLB A ARoocs @
M=
ss Y LB2 = /
/ : 7 E %A 8
L X< —_ohmy Ty M
() 2 =
% J ADJRGA S
O LSCWS o
RINLY
& SS DCONWS BD BD2 BTED LF LSCWS ADJRGA LB2 LB J (N-m) WT(kg) CRKS R/\7+*
BT40HYDROG6X90T 40 6 26 44.5 22 90 37 10 43 63 M5 16 1.4 M16 P-5
BT40HYDRO8X90T 40 8 28 445 24 90 37 10 44.5 63 M6 23 1.4 M16 P-5
BT40HYDRO10X90T 40 10 30 44.5 26 90 41 10 44.5 63 M8x1 45 1.4 M16 P-5
BT40HYDRO12X90T 40 12 32 44.5 28 90 46 10 44.5 63 M10x1 90 1.4 M16 P-5
BT40HYDRO16X90T 40 16 38 44.5 34 90 49 10 47.5 63 M12x1 185 1.5 M16 P-5
BT40HYDRO20X90T 40 20 42 445 38 90 51 10 47.5 63 M16x1 330 1.5 M16 P-5
BT40HYDRO32X100T 40 32 62 - 58.5 100 61 10 63 - M16x1 650 2.55 M16 P-6

*RINFEEENERBA. BIRTHBALIZZ W,
TIEYvYIRER  h6
NZY2ERR G2.5: IR [ElERE max.n: 25,000 min-1

HSK A-HYDRO-T (/A kAOF vy IkILY)
DIN69893 HSK A —{&&I/RILY SREEMRERF v vy

LB
< _LB2
]
& 177 @ % 8
) mj y @
=
e _ADJRGA 8
LSCWS a
=2\ ]

& DCONWS BD BD2 BTED LF LSCWS ADJRGA LB2 LB J (N-m)  WT(kg) R/\F*
HSKA63HYDRO6X70T 6 26 50 22 70 37 10 24 44 M5 16 1 P-5
HSKA63HYDRO8X70T 8 28 50 24 70 37 10 25 44 M6 23 1 P-5
HSKA63HYDRO10X80T 10 30 50 26 80 41 10 B85 54 M8x1 45 1.1 P-5
HSKA63HYDRO12X85T 12 32 50 28 85 46 10 40 59 M10x1 90 11 P-5
HSKA63HYDRO16X90T 16 38 50 34 90 49 10 46 64 M12x1 185 1.2 P-5
HSKA63HYDRO20X90T 20 42 50 38 90 51 10 48 64 M16x1 330 1.3 P-5
HSKA63HYDRO25X120T 25 57 - 53 120 57 10 94 - M16x1 400 2.16 P-6
HSKA63HYDRO32X125T 32 62 - 58 125 61 10 99 - M16x1 650 2.7 P-6

FRNFEEENET A, FRSHALE W,
W=V T F21—7 (RIFE) ZERLTEE W,
TITEYvYIEER  h6
NV 2R G2.5: = EIIRE max.n: 25,000 min-!
tungaloy.com/jp 3



COOLING TUBE-HSK
HSKREZ—U>y o Fa—7

|2

<—>‘

LB
L OAL i
& HSK /X OAL LB G
COOLINGTUBEHSKAG3 63 36 115 M18X1
WRENCH
HSK /—UY o Fa—THLVF
- OAL W
o
[a1]
& HSK H1/ X BD OAL
WRENCH COOL TUBE HSK63 63 17 122
. ®/ OB B OB O B 5
tungaloy.com/jp

Member IMC Group
SUAOQARRT ATV~ °
Io facebook.com/tungaloyjapan vou.rube
twitter.com/tungaloyjapan www.youtube.com/tungaloycorporation

HEOBMEWEHL TR

Ffcld @tungaloy_official TID®REZL TL S LY,

(‘\ FIND US ON THE CLOUD!
machiningcloud.com

I

AS9100 FRAEERS
BixES 78006
Z§%H 2015.11.04
1SO 14001 FR:FES
B§RES EC97J1123
Z§RE 1997.11.26

c
=}
Q
Q

H O
«
£
g

: =

07747144

Tungaloy APP & SNS T RRAD T 0N OF i, i TRRRBARDS RTICT0N OF Sl ECHM12S

BREEDHBEMEZEALTVET, Jun. 2023 (TJ)




